
 

  

 

 

B.B.A. DEGREE EXAMINATION –  
JULY 2018. 

First Year 

PRINCIPLES OF MANAGEMENT 

Time : 3 hours Maximum  marks : 75 

SECTION A — (3  5 = 15 marks)  

Answer any THREE questions. 

All questions carry equal marks. 

1. What are the main characteristics of 

Management? 

 ÷©»õsø©°ß •UQ¯ ]Ó¨¤¯À¦PÒ ¯õøÁ? 

2. What are the limitations of Planning? 

 vmhªku¼ß SøÓ£õkPÒ ¯õøÁ? 
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3. What is Informal Organisation? 

 •øÓ¯õÚ Aø©¨¦ Gß£x GßÚ? 

4. State the features of Directing. 

 C¯USÂzu¼ß ußø©PøÍ SÔ¨¤kP. 

5. Explain the need of Co-ordination. 

 J¸[Qønzu¼ß ÷uøÁ°øÚ ÂÍUSP. 

SECTION B — (4  15 = 60 marks)  

Answer any FOUR questions. 

All questions carry equal marks. 

6. Explain the different approaches to the study of 
Management. 

 ÷©»õsø© B´Âß £À÷ÁÖ AqS•øÓPÒ £ØÔ 

ÂÍUSP. 

7. Discuss the process involved in a Decision Making. 

 •iöÁkzu¼ß Ah[Q²ÒÍ ö\¯À•øÓPøÍ 

ÂÁõvUP. 

8. Explain the merits and limitations at different 
types of Organisation. 

 Aø©¨¤ß £À÷ÁÖ ÁøP°ß |ßø©PÒ ©ØÖ® 

SøÓ£õkPøÍ GÊxP. 
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9. Discuss the various sources of Recruitment. 

 BÒ÷\º¨¤ß £À÷ÁÖ ‰»[PøÍ ÂÁ›. 

10. What is Training? and explain the various 
methods of Training. 

 £o £°Ø] GßÓõÀ GßÚ? ÷©¾® Auß £À÷ÁÖ 

•øÓPøÍ ÂÍUSP. 

11. Briefly explain the process of Communication. 

 uPÁÀ öuõhº¤ß ö\´»•øÓ £ØÔ _¸UP©õP GÊxP. 

12. Explain the features and importance of 
Controlling. 

 Pmk¨£kzxu¼ß ußø©PÒ ©ØÖ® •UQ¯zxÁ® 

£ØÔ ÂÍUSP. 

––––––––––––– 



  

 

 

B.B.A. DEGREE EXAMINATION –  
JUNE 2018.  

First Year  

BUSINESS ORGANISATION 

Time : 3 hours Maximum  marks : 75 

PART A — (3  5 = 15 marks) 

Answer any THREE questions. 

All questions carry equal marks.  

1. What are the objectives of business? 

 ÁoPzvß ÷|õUP[PÒ ¯õøÁ? 

2. What are the features of sole trader? 

 uÛ¯õÒ ÁoPzvß C¯À¦PÒ ¯õøÁ? 

3. Write short note on "Optimum firm". 

 ]Ö SÔ¨¦ ÁøμP : “Ezu© AÍÄ {ÖÁÚ®” 
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4. State the functions of stock exchange. 

 £[S ©õØÓPzvß £oPøÍ SÔ¨¤kP. 

5. Explain the types of business combination. 

 ÁoP Cøn¨¤ß £À÷ÁÖ ÁøPPøÍ £ØÔ 

ÂÍUSP. 

PART B — (4  15 = 60 marks) 

Answer any FOUR questions. 

All questions carry equal marks. 

6. Explain the requirements factors of successful 
business. 

 ÁoP® öÁØÔ¯øhÁuØPõÚ ÷uøÁ¯õÚ PõμoPÒ 

£ØÔ ÂÍUSP. 

7. Discuss the features (or) characteristics of joint 
stock company. 

 Tmk £[S {Ö©zvß ]Ó¨¤¯À¦PÒ £ØÔ ÂÁ›. 

8. Explain the contents of prospectus. 

 uPÁ»ÔUøP°ß EÒÍhUP® £ØÔ GÊxP. 

9. Discuss the factors influencing location of 
industry. 

 öuõÈØ ChAø©øÁ {ºn°US® PõμoPÒ £ØÔ 

ÂÁõvUP. 
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10. Explain the functions and powers of SEBI. 

 C¢v¯ £[S ©õØÓP PÇPzvß £oPÒ ©ØÖ® 

AvPõμ[PøÍ £ØÔ ÂÍUSP. 

11. Discuss effects of business combination in India. 

 C¢v¯õÂÀ ÁoP Tmhø©¨¤ß ÂøÍÄPÒ / 

uõUP[PÒ £ØÔ ÂÁ›. 

12. Briefly explain the principles of insurance. 

 Põ¨¥mk uzxÁ[PÒ £ØÔ _¸UP©õP GÊxP. 

———————— 



  

 

 

U.G. DEGREE EXAMINATION –  
JUNE/JULY, 2018. 

Second Year 

FINANCIAL AND MANAGEMENT 
ACCOUNTING 

Time : 3 hours Maximum  marks : 75 

PART A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

Each answer should not exceed 2 pages. 

1. Explain the differences between journal and 
ledger. 

 SÔ¨÷£k ©ØÖ® ÷£÷μk Cøh÷¯ EÒÍ 

÷ÁÖ£õkPøÍ ÂÍUS[PÒ. 

2. What are the benefits of final accounts? 

 CÖv PnUSPÎß |ßø©PÒ GßÚ? 

3. Explain the meaning and scope of management 
accounting. 

 ÷©»õsø© PnUQ¯¼ß ö£õ¸Ò ©ØÖ® ÷|õUP® 

ÂÍUPÄ®. 

 UG–580 BBA-13/BBAR-13
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4. What are the advantages of funds flow statement? 

 {v Kmh AÔUøP°ß |ßø©PÒ GßÚ? 

5. Discuss the merits of budgetary control. 

 £möám Pmk¨£õmk |ßø©PÒ SÔzx ÂÁõvUPÄ®. 

PART B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

Each answer should not exceed 5 pages. 

6. Explain the accounting concepts in detail. 

 PnUQ¯À P¸zxPøÍ Â›ÁõP ÂÍUPÄ®. 

7. Explain the advantages and limitations of 
Journal. 

 SÔ¨÷£miß |ßø©PøÍ²® SøÓ£õkPøÍ²® 

SÔ¨¤kP. 

8. Illustrate the errors which are disclosed by the 
Trial Balance with suitable examples. 

 ö£õ¸zu©õÚ GkzxUPõmkPÍõÀ C¸¨¦ 

{ø»¨£mi¯À öÁÎ¨£kzx® ¤øÇPøÍ 

ÂÍUPÄ®. 

9. Distinguish between funds flow statement and 
cash flow statement. 

 {v Kmh AÔUøP ©ØÖ® öμõUP Jmh AÔUøP 

÷ÁÖ£kzxP. 
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10. The sales and profit during two years were as 
follows: 

Year Sales Profit 
 Rs. Rs. 

2011 3,00,000 40,000
2012 3,40,000 50,000

 You are required to calculate 

 (a) P.V. ratio 

 (b) Fixed cost 

 (c) Break Even point 

 (d) The sales required to earn a profit of  
Rs. 80,000 

 (e) The profit made when sales are Rs. 5,00,000. 

 ÂØ£øÚ ©ØÖ® C»õ£® Cμsk Á¸h[PÐUS R÷Ç 

uμ¨£mkÒÍx. 

Á¸h® ÂØ£øÚ C»õ£®

 ¹. ¹. 

2011 3,00,000 40,000 
2012 3,40,000 50,000 

 ¤ßÁ¸ÁÚÁØøÓ Psk¤iUP. 

 (A) C»õ£ ÂQu® 

 (B) ©õÓõ ö\»Ä 

 (C) C»õ£ |mh©ØÓ ¦ÒÎ 

 (D) C»õ£® ¹. 80,000 GÛÀ ÷uøÁ¯õÚ ÂØ£øÚ 

AÍÄ 

 (E) ÂØ£øÚ ¹. 5,00,000 GÛÀ C»õ£ ©v¨¦. 
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11. From the following information and Cash Flow 
Statement: 

Particulars 31.3.2012 31.3.2013

 Rs. Rs. 

Assets :   

Cash Balances 5,000 3,500

Trade Debtors 15,000 25,000

Stock 17,500 12,500

Machinery  40,000 27,500

Land 20,000 25,000

Building 17,500 30,000

 1,15,000 1,23,500

Capital and Liabilities : 

Capital 62,500 76,500

Long-Term Loans 20,000 25,000

Mortgage Loans 12,500 –

Trade Creditors 20,000 22,000

 1,15,000 1,23,500

 Additional Information : 

 (a) During the year a machine costing Rs. 5,000 
(accumulated depreciation Rs. 1,500) was 
sold for Rs. 2,500. 
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 (b) The provision for depreciation against 
machinery during the year 2012 was  
Rs. 12,500 and Rs. 20,000 in 2013.  

 (c)  Net Profit earned during the year 2013 was 
Rs. 22,500. 

 RÌUPsh AÔUøP°¼¸¢x öμõUP Jmh 

AÔUøPø¯ u¯õ›UP. 

Â£μ[PÒ 31.3.2012 31.3.2013

 ¹. ¹. 

ö\õzxUPÒ :   

öμõUP® 5,000 3,500

PhÚõÎPÒ 15,000 25,000

C¸¨¦a \μUS 17,500 12,500

C¯¢vμ[PÒ 40,000 27,500

{»® 20,000 25,000

Pmih® 17,500 30,000

 1,15,000 1,23,500

‰»uÚ® ©ØÖ® ö£õÖ¨¦PÒ : 

•uÀ 62,500 76,500

}sh Põ» Phß 20,000 25,000

Ah©õÚ Phß 12,500 –

ÁºzuP PhÚõÎPÒ 20,000 22,000

 1,15,000 1,23,500
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 TkuÀ uPÁÀPÒ : 
 (A) |h¨£õsiÀ ¹. 5,000 ©vUPzuUP C¯¢vμ® 

(÷u´©õÚ® ¹. 1,500) ¹. 2,500US 

ÂØUP¨£mhx. 

 (B) C¯¢vμzvØPõÚ ÷u´©õÚ HØ£õkPÒ 2012 

©ØÖ® 2013 BskPÐUS •øÓ÷¯ ¹. 12,500 

©ØÖ® ¹. 20,000 JxUP¨£mkÒÍx. 

 (C) 2013 B® BsiÀ ö£ØÓ {Pμ »õ£® ¹. 22,500 

12. The Sales Director of a manufacturing company 
reports that next year he expects to sell 50,000 
units of a particular product. The production 
Manager consults the Storekeeper and casts his 
figure as follows: 

 Two kinds of raw materials A and B, are required 
for manufacturing the product. Each unit of the 
product requires 2 units of A and 3 units of B. The 
estimated opening balances at the commencement 
of the next year are: 

 Finished product: 10,000 units 
 Raw Materials : 12,000 units; 
 B : 15,000 units 
 The desirable closing balances at the end of the 

next year are: 
 Finished product 14,000 units, 
 A: 13,000 units 
 B: 16,000 units 

 Prepare Production Budget and Materials 
Purchase Budget for the next year. 
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 J¸ u¯õ›¨¦ {ÖÁÚzvß ÂØ£øÚ C¯US|º Akzu 

Bsk 50,000 A»SPøÍ ÂØP Gvº£õº£uõP 

AÔUøP ÂkQÓõº. u¯õ›¨¦ ÷©»õÍº PøhUPõμøμ 

B÷»õ]UQÓõº ©ØÖ® AÁμx GsoUøP 

¤ßÁ¸©õÖ : 

 Cμsk ÁøP¯õÚ ‰»¨ö£õ¸mPÐ® H ©ØÖ® ¤C 

u¯õ›¨¦ u¯õ›UPz ÷uøÁ¨£kQßÓÚ. u¯õ›¨¦ 

JÆöÁõ¸ A»SUS 2 A»SPÒ ©ØÖ® 3 A»SPÒ 

÷uøÁ. Akzu Bsiß xÁUPzvÀ PnUQh¨£mh 

öuõhUP {¾øÁ : 

 •iUP¨£mh u¯õ›¨¦ : 10,000 A»SPÒ 

 ‰»¨ö£õ¸mPÒ : 12.000 A»SPÒ 

 B : 15,000 A»SPÒ 

 Akzu Bsk •iÂÀ Â¸®£zuUPuõP {øÓÄ 

ö\´²® {¾øÁ : 

 •iUP¨£mh u¯õ›¨¦ 14,000 A»SPÒ. 

 A: 13,000 A»SPÒ 

 B: 16,000 A»SPÒ 

 Akzu Á¸h® EØ£zv £möám ©ØÖ® ö£õ¸mPÒ 

öPõÒ•uÀ £möám u¯õ›UPÄ®. 

––––––––––––––– 



 

  

 

 

B.B.A. DEGREE EXAMINATION –   
JUNE, 2018. 

First Year 

BUSINESS MATHEMATICS AND STATISTICS 

Time : 3 hours Maximum marks : 75 

PART A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

All questions carry equal marks. 

1. What are the uses of statistics in business? 

 ÁoPzvÀ ¦ÒÎ°¯¼ß |ßø©PÒ ¯õøÁ? 

2. Write short note on ‘‘Venn diagram’’. 

 ]Ö SÔ¨¦ ÁøμP ""öÁs Áøμ£h®''. 

3. Distinguish between simple interest and 
compound interest. 

 uÛÁmi ©ØÖ® TmkÁmi ÷ÁÖ£kzxP. 

 UG–581 BBA–14
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4. Find the arithmetic mean of the following data : 

 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x Tmk\μõ\› Psk¤iUP. 

 25, 32, 28, 34, 24, 31, 36, 27, 29, 30. 

5. Compute price index for the year 2015 using 
simple aggregate method. 

 GÎ¯ TmhÀ •øÓ°ß ‰»® 2015 BsiØPõÚ 

Âø» SÔ±mk Gsøn PnUQhÄ®. 

Commodity (ö£õ¸Ò) A B C D E F 

Price (Âø») 2014 20 30 10 25 40 50

Price (Âø») 2015 25 35 15 35 45 55

PART B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

All questions carry equal marks. 

6. Explain the various methods of collecting data. 

 £À÷ÁÖ ÁøP¯õÚ ÂÁμ ÷\P›¨¦ •øÓPÒ £ØÔ 

ÂÍUSP. 

7. If 









32
01

A  and 







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22
12

B  prove that BCAB  . 

 









32
01

A  ©ØÖ® 









22
12

B  GÛÀ {¹¤UP 

BCAB  . 
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8. Discuss the maxima and minima applications used 
in business. 

 ÁoPzvÀ £¯ß£kzu¨£k® ªøP ©ØÖ® 

SøÓöÁs £¯ß£õmiøÚ £ØÔ ÂÁ›UP. 

9. Compute quartile deviation from the following 
information. 

 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x PõÀ©õÚ Â»UPöPÊ 

PnUQkP. 

X 30-32 32-34 34-36 36-38 38-40 40-42 42-44

Y 12 18 16 14 12 8 6 

10. Calculate Karl Pearson's coefficient of correlation 
from the following data. 

 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x PõºÀ ¤¯ºéÛß 

JmkÓÄ öPÊøÁ PnUQkP. 

X 10 12 18 24 23 27

Y 13 18 12 25 30 10

11. Calculate trend value, for the year 2017 from the 
following data using method of least square. 

 «a]Ö ÁºUP •øÓø¯ £¯ß£kzv 2017 B® 

BsiØPõÚ ÷£õUS ©v¨¤øÚ PnUQkP. 

Year (Bsk) 2009 2010 2011 2012 2013 2014

Population (EØ£zv) 7 9 12 15 18 23 
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12. Write short note on the following : 

 (a) Standard deviation 

 (b) Regression analysis 

 (c) Weighted index number 

 (d) Coefficient of variation. 

 ¤ßÁ¸ÁÚÁØÔØS ]Ö SÔ¨¦ ÁøμP. 

 (A) vmhÂ»UP® 

 (B) --öuõhº¦÷£õUS ÷Põm£õk 

 (C) {øÓ°mh SÔ±mk Gs 

 (D) ©õÖ® ÂQu öPÊ. 

 

––––––––––––– 


